EARAROBEEIERT — 2 N— IBISH —F

201678188 (A) 3mE@#1H

Al Y 7R 2 — 2 8 iKiE

‘ [Riz] ¥ ‘ [REBE] — | & (&) 1300M FHE

[AE<%] 1 7% :1,500,000 2 7&:450,000 F 3 #&:255,000 4

4 7% 195,000 B 5 3& : 150,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S, # o2 | EEX 1:25.0 4-4-3-1 | 39.1| — 4 466 | AR GE)
117l 9| F#FV¥=x2 54.0 =) gy | R TAZF T %
L:7v3Is—L B:TULEXI-F> B s
— g o S FITHIBR :25. —7-5- . — IREA (D)
255 | T/ TXvILy > ot 2 54.0 1(7251:? 152|380 B ?_320) ;ume
L:7UF—v BNLIAXE-UT TE HE
Y, B 2 | PEFE 1:26.1 7-8-8-6 |38.5| — 6 457 | EE—5 (@)
31810 ped i i AV s/ 54.0 (6) = [=E5ESS
L:g4¥>v b BT X7 — 3=t e)
3 . N hHEE : 54— — FEAEE (GhF)
4 3| TR/ d—T- o2 i 1.(216).3 5-5-4-4 | 40.1 5 <4+560) Eﬁ%gm
LT RIAY Ty IR BRH—UANRTE— FRES
gy 26, - 3 — e )
50111/ Y27 /N=F o2 e 1(226)7 1-1-1-3 | 42.3 1 (i?i) HoE e
L TFIYLT BEHED sk ve
=k A i 2 | BAER 1:29.2 2-2-2-5 |44.7| — 7 419 | RE/IR (&)
6178 NIRy~ 54.0 (4 14) (+9) (%) 7O>7 47 - %1 —
L:xrindaO— B:FAIXIATANT Y e
= s 2 | FHEE 1:29.8 11-11-10-9 [ 40.9 | — 10 421 | FEAEE (B
ToFr4—<1)— 54.0 3) (-3) - HEE (F)
LNX—HNK B:.T7FF BORM S
5 oo HHEET e -10-11- - BO—Rk (GaF)
T R Z—a i 2 B 1.(330).4 10-10-11-10{ 41.6 2 (4_432) ARl
R:TI5908%Y—F B:TI90919F 1EE BT
N REME :30. -9-9- . — RANIE Gafn)
*YNLTOYy Y 4 2 i 1 (310)6 9-9-9-8 | 42.4 9 (11(1)2) ) At
L:a-T> Uy B/ VA0 AR
=0 B 2 | RERZ 1:30.6 6-6-6-7 |44.2| — 3 464 | WIS (RN
A=TIF> 50 (7€) © |Nomm
L:ZXE—YLFA—X B:FLIIALY AL
= f o2 | FmEEX 1:33.7 3-3-7-11 |47.2| — 8 427 | PRI (AN
AXTTZ 54.0 (24 %) L
Rih>NZ— B:ehlbwAN—| Fralsis
® I —F—@EBIERL
13=7r= 1,8,2,9,3,4,10,5,11,6,7
2= = 1,8,2,9,3,4,5,10,11,6,7
Jol=5r= 1,8,9,3,5,4,2,10,11,7,6
40—+ — 9,5,1,3,8,10,4,11,7,6,2
[ N3
B OB 9 600H 714K 5-9 4,520 7 E 5-7 9,100M 3EHE 5-9-10 63,480/
8 B 9 240M 9-10 1,140H B =5 28,900 K31 9-5-10 333,710
5 2,100 5-10 7,010 B E 5-9 21,670M
10 400M B H 9-5 24,280

ABICOVWTRDTEEERROODE. TR LIV,




